

رسم نمودن تابع در بازه

$$y = \sqrt{n^r f(n+1)}$$

$$f(n) = \left(\frac{1}{r}\right)^{n-r} = f(n) = r^{-n+r}$$

$$\underbrace{f(n+1)}_{r^{-n-1+r}} = r^{-n+1}$$

(10)

$$\Rightarrow y = \sqrt{n^r \times r^{-n+1}}$$

$$\Rightarrow n^r \times r^{-n+1} \geq 0 \Rightarrow n \geq 0$$

$$\Rightarrow r^{-n+1} \geq 0$$

$$\Rightarrow D_f = [0, 1]$$

$$\Rightarrow -n+1 \geq 0 \Rightarrow -n \geq -1$$

$$n \leq 1$$

$$f(n) = \sqrt{n+|n+r|}$$

$$\rightarrow f(-n) = ? \rightarrow f(-n) = \sqrt{-n+|r-n|}$$

(11)

$$\Rightarrow -n+|r-n| \geq 0 \quad \text{if } n \geq 0 \Rightarrow -n-r+n \geq 0 \Rightarrow -r \geq 0 \times$$

$$\text{if } n < 0 \Rightarrow -n+r-n \geq 0 \Rightarrow -2n+r \geq 0 \Rightarrow r \leq 1 \Rightarrow D_f = (-\infty, 1]$$

$$y = \sqrt{\frac{n-1}{f(n)}}$$

$$\frac{n-1}{f(n)} \geq 0$$

$\frac{n-1}{f(n)}$	$-$	$-$	$+$	$+$
$f(n)$	$+$	0	$-$	$-$
$\frac{n-1}{f(n)}$	$-$	$+$	$+$	$-$

(12)

$$D_f = (-\infty, 1] \cup (r, \infty)$$

$$D_{y_1} = D_{y_2} \rightarrow \text{مجموعه های همپوشانی}$$

$$\frac{1}{an^2 - \sqrt{an^2 - \varepsilon n - c}} \quad \text{(سوال 13)}$$

$$\frac{(an^2 - \sqrt{an^2 - \varepsilon n - c} + 1)}{(an^2 - 1)^2} - \frac{n^2 - \varepsilon n - c}{(n+r)^2} \rightarrow (an^2 - 1)^2 - (n+r)^2 \neq 0$$

$$(an^2 - 1)^2 - (n+r)^2 \quad \& \quad (an^2 - 1)^2 \neq (n+r)^2$$

$$\Rightarrow an^2 - 1 \neq n+r \rightarrow an^2 - n - c \neq 0$$

$$\hookrightarrow an^2 + an + b \neq 0 \Rightarrow a \neq -1$$

$$\sqrt{-(-\varepsilon)} = r$$

$$b = -r^2$$

$$y = \sqrt{n^3 + n - \frac{4\varepsilon}{n} - \frac{\varepsilon}{n}} \quad \sqrt{\frac{n^3 + n^2 - 4\varepsilon - \varepsilon}{n^2}}$$

(سوال 50)

$$\frac{n^3 + n^2 - 4\varepsilon - \varepsilon}{n^2} \geq 0 \rightarrow n^3 + n^2 - 4\varepsilon - \varepsilon = t^3 - 4\varepsilon + t^2 - \varepsilon t$$

$$= (t - \varepsilon)(t^2 + \varepsilon t + 14) + t(t - \varepsilon) \cdot (t - \varepsilon)(t^2 + \varepsilon t + 14)$$

$$n = \pm \sqrt[3]{\varepsilon} \Leftrightarrow n^3 = \varepsilon \Leftrightarrow t = \varepsilon \quad \Delta = 28 - 4\varepsilon < 0 \quad \Delta$$

$$- \quad + \quad - \quad + \quad \rightarrow D_f = [-\sqrt[3]{\varepsilon}, 0) \cup (\sqrt[3]{\varepsilon}, +\infty)$$

$$f(n^3 + n) = 2n^2 - 1$$

$$f(2) + f(1) = ?$$

(4)

$$n^3 + n = 2 \rightarrow n^3 + n - 2 = 0$$

$$(n-1)(n^2 + n + 2) = 0 \rightarrow n = 1$$

$$\Delta < 0$$

$$\begin{array}{r} n^3 + n - 2 \mid n - 1 \\ \underline{-(n^3 + n^2 + n)} \\ n^2 + n - 2 \\ \underline{-(n^2 + n)} \\ -2 \end{array}$$

$$\frac{2n - 2}{-2n + 2} = 0$$

$$\Rightarrow f(2) = 1$$

$$n^3 + n = 1 \rightarrow n^3 + n - 1 = 0$$

$$= (n-1)(n^2 + \varepsilon + 2n) + (n-1) = (n-1)(n^2 + 2n + \varepsilon)$$

$$\Rightarrow n = 1 \Rightarrow f(1) = 0$$

$$\Delta < 0$$

$$\Rightarrow f(2) + f(1) = 1 + 0 = 1$$

$$f(n) = n^3 + 12n - 4n^2 - 1 + 1 = (n-2)^3 + 1$$

(سوال 7)

$$g(n) = n^3 + 2n^2 + 2\sqrt{n} + 2\sqrt{n} - 2\sqrt{n} = (n+2)^3 - 2\sqrt{n}$$

$$\frac{g(\sqrt[3]{2} - 2)}{f(\sqrt[3]{2} + 2)} = \frac{(\sqrt[3]{2})^3 - 2\sqrt{2}}{(\sqrt[3]{2})^3 + 1} = \frac{-2\sqrt{2}}{10} = -\frac{2}{5}$$

(+0,198)

$$f(n) = \sqrt{n+\varepsilon} \sqrt{n-\varepsilon} = \sqrt{(\sqrt{n-\varepsilon}+1)^2} = \sqrt{n-\varepsilon} + 1 \quad (101)$$

$$g(n) = \sqrt{n-\varepsilon} \sqrt{n-\varepsilon} = \sqrt{(\sqrt{n-\varepsilon}-1)^2} = |\sqrt{n-\varepsilon}-1|$$

$$f(n) + g(n) = \sqrt{n-\varepsilon} + 1 + |\sqrt{n-\varepsilon}-1|$$

$\left\{ \begin{array}{l} \text{مقدار مثبت} \\ \text{و منفی} \end{array} \right. \rightarrow \frac{a+b}{c} = \frac{-1}{1}$

$$= 2\sqrt{n-\varepsilon} \quad \begin{array}{l} \xrightarrow{a=0} \text{DST} \\ \xrightarrow{c=-\varepsilon} \end{array}$$

$\frac{a+b}{c} = \frac{0}{\varepsilon}$

$n=1 \rightarrow \sqrt{n-\varepsilon} + 1 + 0 \rightarrow a=1$
 $b=1$
 $c=-\varepsilon$

$\varepsilon < n < 1 \rightarrow \sqrt{n-\varepsilon} + 1$
 $\sqrt{n-\varepsilon} + 1 \leq \varepsilon \rightarrow a=\varepsilon$
 $b=0$
 $c=\varepsilon$

$$g(n) = \{(1,1), (1,0), (0,0), (0,1)\}, f(n) = \frac{n+1}{n^2-\varepsilon n+1} \quad (90)$$

$$\frac{g}{f} = \frac{n^2-\varepsilon n+1 \neq 0}{(n-1)(n-1) \neq 0 \rightarrow n \neq 1, 1}$$

$\rightarrow n+1 \neq 0 \rightarrow n \neq -1$

$$f(n) = \{(1, -\varepsilon), (0, \frac{1}{1})\} \rightarrow \frac{g}{f} = \{(1, -\frac{1}{\varepsilon}), (0, 1)\}$$

$$g(n) = \{(-1,1), (1,-1), (1,1), (-1,0)\}, f(n) = \{(1,1), (1,-1), (1,1), (1,1)\} \quad (100)$$

$$f(n) = \{(\frac{1}{1}, 1), (\frac{1}{1}, -1), (1, 1), (-\frac{1}{1}, 1)\}$$

$$f(n) = \{(1, 1), (\sqrt{1}, -1), (1, 1)\}$$

$$1 \cdot g(n) + 1 = \{(-1, 1 \times \frac{1}{1} + 1), (1, 1 \times (-1) + 1), (1, 1 \times \frac{1}{1} + 1), (-1, 1 \times (-1) + 1)\} = \{(-1, 1), (1, 0), (1, 1), (-1, 0)\}$$

$$\frac{vf}{g} = \{ (1, -\varepsilon), (2, -1) \}$$